
●

●

●

●

●

●

●
●

●
●
●

●

●

●

●●

●
●
●

●

●

●●●
●
●●●

●
●●● ●

●●●
●●●
●

●●

●

●

●

●
●

●

●

●

●

●

●

●

●
●

●
●
●
●

0.0

0.2

0.4

0.6

0.8

0.9

1.0

Convergence Index Recurrence Index Divergence Index

0
(non−rec.)

0
(rec.)

0.5
(rec.)

0.9
(rec.)

1
(rec.)

0
(non−rec.)

0
(rec.)

0.5
(rec.)

0.9
(rec.)

1
(rec.)

0
(non−rec.)

0
(rec.)

0.5
(rec.)

0.9
(rec.)

1
(rec.)

0.4

0.5

0.6

0.7

0.8

Coupling parameter (Initialization)

A
U

C

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

Convergence Index Divergence Index

0.4 0.5 0.6 0.7 0.8 0.0 0.2 0.4 0.6

5.0%

7.0%

10.0%

E
rr

or
 r

at
e

# raw parameters # effective parameters

105 107 105 107

5.0%

7.0%

10.0%

E
rr

or
 r

at
e 

on
 C

IF
A

R
−

10

# channels ● ● ● ●8 16 32 64

105 107
# parameters

Coupling parameter 0
(non−rec.)

0
(rec.)

0.5
(rec.)

0.9
(rec.)

1
(rec.)


